
  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE 2019. 

Second Year 

BANKING THEORY, LAW AND PRACTICE 

Time : 3 hours Maximum  marks : 75 

PART A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. What is Commercial Banking and Industrial 
Banking? 

 ÁoP Á[Q ©ØÖ® öuõÈÀ Á[Q GßÓõÀ GßÚ? 

2. Explain the administrative set up of RBI. 

 ›\ºÆ Á[Q°ß {ºÁõP Aø©¨¦ SÔzx ÂÍUSP. 

3. Explain the special types of customers. 

 PÁÚzvØS›¯ ÁõiUøP¯õÍºPÎß ÁøPPøÍ 

ÂÍUSP. 
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4. What are the essentials of a valid cheque? 

 ö\ÀuS Põ÷\õø»°ß CßÔ¯ø©¯õu TÖPÒ 

¯õøÁ? 

5. Write a note on fixed deposit receipts. 

 {ø» øÁ¨¦ μ^xPÒ SÔzx SÔ¨¦ GÊxP. 

PART B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. Elaborate the functions of Commercial Banks. 

 ÁoP Á[QPÎß £oPøÍ ÂÁ›zx GÊxP. 

7. Explain the role of RBI in economic development 
of India. 

 C¢v¯ ö£õ¸Íõuõμ ÁÍºa]°À C¢v¯ ›\ºÄ 

Á[Q°ß £[QøÚ ÂÁ›. 

8. Explain the obligations of a banker towards his 
customers. 

 ÁõiUøP¯õÍºPÒ «x Á[Q¯¸US EÒÍ 

ö£õÖ¨¦PÒ £ØÔ ÂÁ›. 

9. When can a collecting banker claim statutory 
protection? Explain. 

 Á`¼US® Á[Q¯º G¨÷£õx \mhŸv¯õÚ 

£õxPõ¨ø£ ÷Põμ •i²® – ÂÁ›. 
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10. Explain the circumstances, where the banker may 
refuse to honour cheques. 

 G¢öu¢u `Ì{ø»PÎÀ Á[Q¯º Põ÷\õø»US 

HØ£ÎUP ©ÖUP»õ® Gß£øu ÂÁ›. 

11. Examine the different types of deposit accounts. 

 £À÷ÁÖ ÁøP¯õÚ øÁ¨¦ PnUSPÒ SÔzx ©v¨¥k 

ö\´P. 

12. Write short notes on : 

 (a) Pledge 

 (b) Lien 

 (c) Hypothecation. 

 ¤ßÁ¸ÁÚÁØÔØS SÔ¨¦ ÁøμP : 

 (A) AhS 

 (B) E›ø© 

 (C) Ah©õÚ® 

  

––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –   
JUNE, 2019. 

Second Year 

Bank Management  

REGULATORY MECHANISM OF BANKING  

Time : 3 hours Maximum  marks : 75 

PART A — (3  5 = 15 marks)  
Answer any THREE questions. 

1. State the provisions of Banking Regulation Act, 
1949 relating to opening of new branches of 
Commerical Banks. 

 ÁoP Á[QPÒ ¦v¯ QøÍPÒ  vÓ¨£x öuõhº£õÚ 

Á[Q JÊ[PõØÖ \mh® 1949–ß åμzxUPøÍU 

TÖP. 

2. Explain the various features of capital adequacy 
norms.  

 ‰»uÚ ÷£õx©õÚ ÂvPÎß £À÷ÁÖ ]Ó¨¦ 

A®\[PøÍ ÂÍUSP. 

3. How will you classify loans and advances of a 
bank? 

 J¸ Á[Q°ß PhßPøÍ²® ©ØÖ® •ß £nzøu²® 

}Âº GÆÁõÖ ÁøP¨£kzxÃº? 

 UG–215 BBM–22



 UG–215 2

4. Give the meaning of the money concept of  
M1, M2, M3 and M4 as adapted by RBI. 

 ›\ºÆ Á[Q¯õÀ Pøh¨¤iUP¨£k® M1, M2, M3 
©ØÖ® M4 £nU÷Põm£õkPÎß ö£õ¸øÍz u¸P. 

5. Enumerate the reasons for the failure of non-
banking financial companies. 

 Á[Q \õμõ, {v {ÖÁÚ[PÎß ÷uõÀÂUPõÚ 

Põμn[PøÍ Gkzv¯®¦P. 

PART B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. Explain the primary and secondary functions 
performed by commerical banks. 

 ÁoP Á[QPÒ BØÖ® •ußø©, Cμshõ® uμ 

£oPøÍ ÂÁ›. 

7. Name any ten departments of RBI – Explain.  

 C¢v¯ ›\ºÆ Á[Q°ß xøÓPÎÀ H÷uÝ® £zvøÚ 

ÂÁ›. 

8. Explain the financial sector reforms recommended 
by various committees. 

 £À÷ÁÖ SÊUPÍõÀ £›¢xøμ ö\´¯¨£mh {vzxøÓ 

^μø©¨¦PÒ £ØÔ ÂÁ›. 
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9. Describe the conditions for operation of Bank Rate 
Policy. 

 Á[Q Ámi öPõÒøP ö\¯À£kÁuØPõÚ `Ì{ø»ø¯ 

ÂÁ›. 

10. What are the contents of NBFC (Reserve Bank) 
Direction 1998? 

Á.\õ.{.P (›\ºÆ Á[Q) ö|Ô •øÓPÒ 1998 –ß 

EÒÍhUP[PÒ ¯õøÁ? 

11. Discuss the various steps taken by RBI to address 
the problems of Banking Sector.  

 Á[QzxøÓ°ß ¤μa\øÚPøÍ \©õÎUP C.›.Á. 

GkzxÒÍ £À÷ÁÖ |hÁiUøPPøÍ ÂÁõv. 

12. What do you mean by CRR and explain their 
effectiveness? 

 CRR GßÓõÀ GßÚ? Auß ÂøÍÄPøÍ ÂÁ›. 

––––––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE 2019. 

Second Year 

Bank Management 

CREDIT MANAGEMENT 

Time : 3 hours Maximum  marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1.  Explain the various types of mortgages.  

  Ah©õÚ[PÒ £À÷ÁÖ ÁøPPøÍ ÂÍUPÄ®. 

2. What are the documents to be called for lending of 
association? 

  \[Pzvß Phß ÁÇ[SÁuØPõP BÁn[PøÍ 

¯õøÁ? 

3. Analyse the process to be followed in Government 
sponsored loans.  

  Aμ\õ[P {v²uÂ PhßPÎÀ ¤ß£ØÓ¨£h ÷Ási¯ 

ö\¯À•øÓø¯ Bμõ´P. 

 UG-216 BBM-23
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4. What do you mean by balance sheet? 

 C−œ™|í°U SÉœ™ GÔ–uÔ ë–ê−Ç GÔÏ? 

5. Explain the term ‘asset reconstruction fund’. 

 ë\êzx ©ËPmhí©œ™ |v GÔ–uÔ ë–ê−Ç 

·ÂUP¹£.  

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. What are the recommendations of Nayak 

Committee? 

 |õ¯U SÊÂß •UQ¯ £›¢xøμPÒ ¯õøÁ? 

7. Discuss the relationship between a banker and a 

customer.  

 J¸ Á[Q¯õÍ¸US® ÁõiUøP¯õÍ¸US® 

Cøh÷¯¯õÚ EÓøÁ¨ £ØÔ ÂÁõvUPÄ®. 

8. What is Lead Bank Scheme? Explain Role and 

Function of lead bank scheme? 

 •ßÚo Á[Q vmh® GßÓõÀ GßÚ? •ßÚo 

Á[Q vmhzvß £[S ©ØÖ® ö\¯À£õk ÂÍUPÄ®. 
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9. What are the difference between corporate finance 

and project finance? 

 ö£¸{ÖÁÚ {v ©ØÖ® vmh {v Cøh÷¯ EÒÍ 

÷ÁÖ£õkPÒ GßÚ? 

10. Explain the various causes and remedial measure 

of NPA. 

 NPA°ß £À÷ÁÖ Põμn[PÒ ©ØÖ® wºÄ 

|hÁiUøPPøÍ ÂÍUPÄ®. 

   

––––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION —  
JUNE, 2019. 

Second Year 

INTERNATIONAL BANKING 

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. What is balance of payments? Explain its 
component. 

 £n\© {ø» Gß£uß ÂÍUP® ©ØÖ® Auß TÖPÒ 

¯õøÁ? 

2. What do you mean by flexible exchange Rate 
system? Discuss its merits. 

 ö|QÌÄ ©õØÖ ÂQu Aø©¨¦ GßÓõÀ GßÚ? Auß 

|ßø©PøÍ ÂÁõv. 

3. Explain the role of EXIM bank in boosting Indian 
exports. 

 C¢v¯ HØÓ©vPøÍ ÷©®£kzxÁvÀ EXIM 
Á[Q°ß £[øP ÂÍUSP. 

 UG–217 BBM–24
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4. What do you understand by FDI? 

 FDI  £ØÔ }Âº AÔÁÚ ¯õøÁ? 

5. What is GDR? Bring out its features and benefits. 

 GDR  GßÓõÀ GßÚ? Auß A®\[PÒ ©ØÖ® 

|ßø©PÒ ¯õøÁ? 

PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the functions of Internal Banking. 

 £ßÚõmk Á[Q°ß |iÁiUøPPøÍ ÂÁ›. 

7. Explain the types of Letter of Credit. 

 Phß Piuzvß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

8. What are the advantages and disadvantages of 
GDR? 

 GDR ›ß |ßø© wø©PøÍ ÂÁ›. 

9. Discuss the exchange rate system based on Gold. 

 ©õØÖ ÂQu •øÓ°À u[Pzvß Ai¨£øh •øÓø¯ 

ÂÁ›. 

10. What are the functions of International financial 
corporations? 

 \ºÁ ÷u\ {v {ÖÁÚ[PÎß ö\¯À£õkPøÍ ÂÁ›. 
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11. Explain the following briefly : 

 (a) European Union. 

 (b) Foreign currency convertible bonds. 

 (c) Capital Account Convertibility. 

 (d) Assets and Liability management. 

 (e) Current Account Convertibility. 

 ¤ßÁØøÓ _¸UP©õP ÂÁ›. 

 (A) I÷μõ¨¤¯ JßÔ¯®. 

 (B) öÁÎ|õmk |õn¯ ©õØÓzuUP £zvμ[PÒ. 

 (C) ‰»uÚ PnUS ©õØÓzuUP®. 

 (D) ö\õzx ©ØÖ® ö£õÖ¨¦ ÷©»õsø©. 

 (E) uØ÷£õøu¯ PnUS ©õØÓzuUP®. 

12. Explain the objectives of International 
Development Association. 

 \ºÁ÷u\ A¤Â¸zv \[P[PÎß ÷|õUP[PøÍ 

ÂÍUSP. 

——––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2019. 

Second Year 

Bank Management 

BUSINESS STATISTICS  

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Explain the various stages involved in statistical 
investigation.  

 ¦ÒÎ°¯À B´Âß £À÷ÁÖ {ø»PøÍ ÂÁ›.  

2. Calculate the standard deviation of the heights of 
10 students given below.  

 Heights : 160, 160, 161, 162, 163, 163, 164, 164, 170 
 (in cons)  

 10 ©õnÁºPÎß E¯μ[PÒ R÷Ç öPõkUP¨& 

£mkÒÍÚ. vmh Â»UPzøuU PnUQkP.  

 E¯μ®  : 160, 160, 161, 162, 163, 163, 164, 164, 170 
(ö\.«) 

 UG–218 BBM–25
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3. The covariance between variables X and Y is 18.6 
and variance of X and Y are 20.2 and 23.7 
respectively. Find the coefficient of correlation 
between them.  

 X, Y GßÓ Cμsk ©õÔ¼PÐUQøh÷¯ Ehß 

©õÖ£õk 18.6 BPÄ® X ©ØÖ® Y&UQøh÷¯ 

©õÖ£õk •øÓ÷¯ 20.2 ©ØÖ® 23.7 BPÄ® 

C¸UQÓx. AÁØÖUQøh÷¯¯õÚ JmkÓÄU 

öPÊÂøÚ PnUQkP.   

4. Explain the importance of time series analysis.  

 Põ» öuõhº Á›ø\ £Szuõ´Âß •UQ¯zxÁzøu 

ÂÍUSP. 

5. On the basic of information given below, calculate 
the Fisher’s Ideal Index number.  

Commodity Base Year Current Year 

 Price 
(Rs.) 

Quantity Price 
(Rs.) 

Quantity

A 2 40 6 50 

B 4 50 8 40 

C 6 20 9 30 

D 8 10 6 20 

E 10 10 5 20 
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 R÷Ç uμ¨£mkÒÍ Â£μ[PÎ¼¸¢x ¤å›ß 

ªPa]Ó¢u SÔ±mk Gsøn PõsP.  

ö£õ¸Ò Ai¨£øh Bsk |h¨¦ Bsk 

 Âø» (¹.) AÍÄ Âø» (¹.) AÍÄ

A 2 40 6 50 

B 4 50 8 40 

C 6 20 9 30 

D 8 10 6 20 

E 10 10 5 20 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. What are the various sources of secondary data? 

 Cμshõ® {ø» uPÁÀPÎß £À÷ÁÖ ‰»[PÒ 

¯õøÁ? 

7. The following data relate to the age of a group of 
Government employees. Calculate the standard 
deviation.  

Age : 20-25 25-30 30-35 35-40 40-45 45-50 50-55 

No. of  
employees : 

170 110 80 45 40 30 25 
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 Aμ_¨ £o¯õÍºPÎß Á¯x \®£¢u©õÚ ÂÁμ[PÒ 

R÷Ç öPõkUP¨£mkÒÍÚ. vmh Â»UPzvøÚU 

PnUQkP. 

Á¯x : 20-25 25-30 30-35 35-40 40-45 45-50 50-55 

£o¯õÍº 

GsoUøP : 
170 110 80 45 40 30 25 

8. From the following data obtain the two regression 
equations.  

Sales : 91 97 108 121 67 124 51 73 111 57 

Purchases : 71 75 69 97 70 91 39 61 80 47 

 RÌUPõq® ÂÁμ[PÐUS Cμsk öuõhº¦ 

\©ß£õkPøÍU PõsP.  

ÂØ£øÚ : 91 97 108 121 67 124 51 73 111 57 

öPõÒ•uÀ : 71 75 69 97 70 91 39 61 80 47 

9. Using the data given below calculate price Index 
Number for the year 1998 by (a) Laspeyre’s 
formula (b) Paasche;s formula and (c) Fisher;s 
formula with the year 1990 as base.  

Commodity Price (Rs.) Quality (‘000 kg)

 1990 1998 1990 1998 

Rice 9.3 4.5 100 90 

Wheat 6.4 3.7 11 10 

Pulses  5.1 2.7 5 3 
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 ¤ßÁ¸® uPÁÀPÐUS »õì¤¯º, £õºa] ©ØÖ® ¤\º 

BQ÷¯õ›ß SÔ±mk GsPøÍ PnUQkP. 

Ai¨£øh Bsk 1990 GßÖ öPõÒP.  

ö£õ¸mPÒ Âø» (¹.) AÍÄ  

(‘000 Q.Qμõ®)

 1990 1998 1990 1998 

A›] 9.3 4.5 100 90 

÷Põxø© 6.4 3.7 11 10 

£¸¨¦ 5.1 2.7 5 3 

10. Using 1993 as the origin, obtain a straight line 
trend equation by the method of least squares.  

Year : 1989 1991 1992 1993 1994 1995 1998

Value : 140 144 160 150 168 176 180 

 Find the trend value of the missing year 1990.  

 1993&® BsiøÚ Ai¨£øh BshõPU Põsk 

«a]Ö ÁºUP •øÓø¯¨ £¯ß£kzv J¸ ÷£õUS 

÷|º÷Põmiß \©ß£õk Aø©UPÄ®.  

Bsk : 1989 1991 1992 1993 1994 1995 1998

©v¨¦ : 140 144 160 150 168 176 180 



 

 UG–218 6

11. Ten competitors in a beauty contest are ranked by 

three judges in the following order.  

1st Judge : 1 6 5 10 3 2 4 9 7 8

2nd Judge : 3 5 8 4 7 10 2 1 6 9

3rd Judge : 6 4 9 8 1 2 3 10 5 7

 Use the rank correlation coefficient to determine 

which pair of judges has the nearest approach to 

common tastes in beauty.  

 J¸ AÇQ¨ ÷£õmi°À £zx ÷£õmi¯õÍºPøÍ ‰ßÖ 

|kÁºPÒ RÌPsh Á›ø\°À uμ{ø»£kzxQÓõºPÒ.  

•uÀ |kÁº : 1 6 5 10 3 2 4 9 7 8

Cμshõ® |kÁº  : 3 5 8 4 7 10 2 1 6 9

‰ßÓõ® |kÁº : 6 4 9 8 1 2 3 10 5 7

 uμ{ø» JmkÓÄU öPÊÂß EuÂ öPõsk G¢u C¸ 

|kÁºPÒ AÇQß μ\øÚ°À ö|¸[Q¯ 

AqS•øÓ°øÚ öPõskÒÍÚº Gß£øu 

wº©õÛUP.  
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12. The following gives the length of life (in hours) of 
400 T.V picture tubes.  
Length of life (in hours) No. of picture tubes

4000-4200 22 
4200-4400 38 
4400-4600 65 
4600-4800 75 
4800-5000 80 
5000-5200 70 
5200-5400 50 

 Calculate Karl Pearson’s co-efficient of skewness.  

 400 öh¼Âåß £h SÇ´PÎß ÁõÌUøP (©o 

÷|μ[PÎÀ) AÍÄ R÷Ç öPõkUP¨£mkÒÍx. 

ÁõÌUøP AÍÄ  

(©o ÷|μ[PÎÀ) 

£hUSÇõ´PÎß GsoUøP

4000-4200 22 
4200-4400 38 
4400-4600 65 
4600-4800 75 
4800-5000 80 
5000-5200 70 
5200-5400 50 

 PõºÀ ¤¯º\Ûß ÷PõmhU öPÊøÁ Psk¤i. 

––––––––––––– 




